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PHYSICS

BOOKS - DISHA PHYSICS (HINGLISH)

ALTERNATING CURRENT

1. in a LCR circuit capacitance is chagned from C to
2C. For the resomat frequency to remain unchaged,

the inductance should be chagned from L to


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ZCMgct3GS1KP

A.L/2

B. 2L

C.4L

D.L/4

Answer:

° Watch Video Solution

2. The power factor of LCR circuit at resonance is-

A.0.707

B.1


https://dl.doubtnut.com/l/_ZCMgct3GS1KP
https://dl.doubtnut.com/l/_eIVZqn1JkzRz

C.Zero

D. 0.5

Answer:

° Watch Video Solution

3. An alternating current source of frequency
100Hz is joined to a combination of a resistance, a
capacitance and a coil in series. The potential
difference across the coil, the resistance and the

capacitor is 46,8 and 40 volt respectively. The


https://dl.doubtnut.com/l/_eIVZqn1JkzRz
https://dl.doubtnut.com/l/_EhYW4MCRrmZY

electromotive force of alternating current source in

volt is

A.94

B.14

C.10

D.76

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_EhYW4MCRrmZY

4. A 10 ohm resistance, bmH coil and 10uF
capacitor are joined in series. When a suitable
frequency alternating current source is joined to
this combination, the circuit resonates. If the
resistance is halved, the resonance frequency

A.is halved

B. is doubled

C. remain unchanged

D. os quadrupled

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_PtFB6tBWtzFr

5. The phase difference between the current and
voltage of LCR circuit in series combination at

resonance is

A.Q°

B.7m/2

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_PtFB6tBWtzFr
https://dl.doubtnut.com/l/_R9k8kBL8KGlW

6. The coefficient of induction of a choke coil is
0.1H and resistance is 12€). If it is connected to an
alternating current source of frequency 60H z, then
power factor will be

A. 04

B.0.3

C.0.2

D. 0.1

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_nqX9AABHGTfe

7. The resonant frequency of a circuit is f. If the

capacitance is made 4 times the initial values, then

the resonant frequecy will become

A. /2

B. 2f

C.f

D. f/4

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_kNfEJLH2R9SB

8. In the non-resonant circuit, what will be the

nature of the circuit for frequencies heigher than

the resonant frequency?

A. Resistive

B. Capacitive

C. Inductive

D. None of the above

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_iSdjqm3QNdb9

9. In a series LC'R circuit, resistance R = 102 and

the impedence Z = 202 the phase difference

between the current and the voltage is

A.30°

B.45°

C.60°

D.90°

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_ZgjBNiU2t3O6

1
10. An alternating EMF of frequency ————— is

27/ LC

applied to a series LCR circuit. For this frequency of
the applied EMF,
A. The circuit is at resonance and its impedance
is made up only of a reactive part
B. The current in the circuit is not in phase with
the applied emf. and the voltage across R
equals this applied emf
C.The sum of the p.d.s across the inductance

and capacitance equals the applied em.f.


https://dl.doubtnut.com/l/_LX9oEXh7tUBN

which is 180° ahead of phase of the current
in the circui

D.The quality factor of the circuit s
wL/R or 1/wCRand thisis a measure of
the voltage magnification (produced by the
circuit at resonance) as well as the sharpness

of resonance of the circuit

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_LX9oEXh7tUBN

1. In a circuit L, C' and R are connected in series
with an alternating voltage source of frequency f.
The current lead the voltages by 45°. The value of

Cis:

A. (1)/(2pif(2pifL+R))

B. (1)/(2pif(2pifL+R))

C. !
2n f(2rfL — R)
D. !
2nf(2rfL — R)

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_1oQsuZNFnmJN

12. For the series LCR circuit shown in the figure,
what is the resonance frequency and the amplitude

of the current at the resonating frequency

8 mH
— (U
220V () ;L: 20 pF
;M_,
44 Q

A.2500rads ! and 5./24

B.2500rads ' and b5A

5
C.2500rads™! and —A

V2

D.25rads ' and (5)/+/2(A)

Answer:


https://dl.doubtnut.com/l/_a2INIOn9c8cd

° Watch Video Solution

13. In an AC circuit, V and I are given by

T
V = 100sin(100t)vo < s, I = 100 sin(loot + E)mA

. The power dissipated in circuit is

A. 10%
B. 10 watt
C.0.025

D. 2.5 watt

Answer:

‘ ° Watch Video Solution


https://dl.doubtnut.com/l/_a2INIOn9c8cd
https://dl.doubtnut.com/l/_TJ7ERHHDxWkF

14. For a series RLC circuit R = X; = 2X. The
impedence of the current and phase different

(between) V and 7 will be

A /%, tan~1(2)
B. /%, fan~1(1/2)

C./5X¢, tan”*(2)

D. /5X¢, tan" 1(1/2)

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_TJ7ERHHDxWkF
https://dl.doubtnut.com/l/_LIwfP0jsTZYS

15. In an AC circuit the voltage applied is

E = Ejsinwt. The resulting current in the circuit is
. 7.(- . .

I =1 sm(wt — E) The power consumption in

the circuit is given by

Fol
Ap= 040

V2
B. P = /2El,

E()I()
C.P =

2
D.p=0
Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_dMAMwgIgMRdh

16. An AC supply gives 30V, which passes
through a 1002 resistance. The power dissipated in
it is

A. 90/2W

B.90O W

C. 45\2W

D.45W

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_QSI3j6EVr1kI

17. The figure shows variation of R, X; and X
with frequency f in a series L, C, R circuit. Then

for what frequency point, the circuit is inductive ?

‘r Xc X

N

~——R
c

!
!
!
I
|

®-----§>

A

A A

B.B

C.B

D. All point


https://dl.doubtnut.com/l/_SJtLeYwdxQ8G

Answer:

0 Watch Video Solution

18. An alternating e.m.f. of angular frequency w is
applied across an inductance. The instantaneous
power developed in the circuit has an angular

frequency

o€ | E

D. 2w


https://dl.doubtnut.com/l/_SJtLeYwdxQ8G
https://dl.doubtnut.com/l/_Dpm9SY1BOfmH

Answer:

0 Watch Video Solution

19. In the circuit shown in figure neglecting source
resistance the voltmeter and ammeter reading will

respectively, will be

300 _ |1
A — AN, Y

X =25Q Xc=25Q

240V

A. 0V, 3A


https://dl.doubtnut.com/l/_Dpm9SY1BOfmH
https://dl.doubtnut.com/l/_wy8RL0oa12q5

B. 150V, 3A

C. 150V, 6A

D.0OV,8 A

Answer:

o Watch Video Solution

20. In an LCR circuit, the sharpness of resonance

depends on

A. Inductance (L)

B. Capacitance (C)


https://dl.doubtnut.com/l/_wy8RL0oa12q5
https://dl.doubtnut.com/l/_C1sQgw2bbqCH

C. Resistance (R)

D. All of these

Answer:

° Watch Video Solution

21. For series LCR circuit, correct statements are

A. Applied em.f. and potential difference across
resistance may be in phase
B. Applied emf. and potential difference at

inductor coil have phase difference of 7 /2


https://dl.doubtnut.com/l/_C1sQgw2bbqCH
https://dl.doubtnut.com/l/_BRuSHlOoq3cZ

C. Potential difference across resitance and
capacitor have phase difference of 7 /2
D. Potential difference at capacitor and inductor

have phase difference of 7 /2

Answer:

0 Watch Video Solution

22. An ac source is connected to a resistive circuits.

Which of the following statements are false ?

A. Current leads the voltage


https://dl.doubtnut.com/l/_BRuSHlOoq3cZ
https://dl.doubtnut.com/l/_5bYQEZE28rDA

B. Current lags behind the voltage

C. Any of (1) or (2) may be true depending upon

the value of resistance

D. Current and voltage are in same phase

Answer:

° Watch Video Solution

23. A  series LCR arrangement  with
X = 800, X, = 500, R = 4092 is applied across

a.c. source of 200 V. Choose the correct options.


https://dl.doubtnut.com/l/_5bYQEZE28rDA
https://dl.doubtnut.com/l/_NweMDclQ9WxM

A. Wattless current =3.2 A

B. Power current =3.2 A

C. Power factor =0.6

D. Impedance of circuit =502

Answer:

° Watch Video Solution

24. In RLC circuit, at a frequency v, the potential

difference across each device are

(AVg), ... =88V, (AVy) . = 2.6V and

max max

(AVe),.. = 7.4V. The composed potential

max


https://dl.doubtnut.com/l/_NweMDclQ9WxM
https://dl.doubtnut.com/l/_9FjKgLBE9GBo

difference (AVo + AVy),... across inductor and
capacitor is

A.100V

B.78V

C.74V

D.48V

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_9FjKgLBE9GBo

25. In RLC circuit, at a frequency v, the potential

difference across each device are
(AVR) pox = 8.8V, (AVL) .. = 2.6V and
(AVe) o = 7-4V.  The composed potential

difference (AVe + AVy) .. across inductor and
capacitor is

A.188V

B.13.6V

C.10.0V

D.40V

Answer:



https://dl.doubtnut.com/l/_jVtSXp2OglZR

\ ° Watch Video Solution

26. What will happen to the value of (AV7) if the
frequency is adjusted to increase the current the
current through the circuit ?

A. (AV7) will increase.

B. (AV7) will decrease.

C. (AVy) will remain the same regardless of any

changes to f.
D. There is not enough information to answer

the question.


https://dl.doubtnut.com/l/_jVtSXp2OglZR
https://dl.doubtnut.com/l/_cYprXGJPzSRW

Answer:

° Watch Video Solution

27. Assertion: An electric lamp connected in series
with a variable capacitor and AC' source, its
brightness increases with increases in capacitance.
Reason: Capacitive reactance decrease with

increases in capacitance of capacitor.

A. Statement-1 is True, Statement-2 is True,

Statement-2 is a correct explanation for

Statement-1.


https://dl.doubtnut.com/l/_cYprXGJPzSRW
https://dl.doubtnut.com/l/_6NQBgLqSap0Z

B. Statement -1 is True, Statement-2 is True,

Statement-2 is NOT a correct explanation for

Statement-1.

C. Statement -1 is False, Statement-2 is True.

D. Statement -1 is True, Statement-2 is False.

Answer:

o Watch Video Solution

28. Assertion: When capacitive reactance is smaler
than the inductive reactance is LCR circuit, em.f.

leads the current.


https://dl.doubtnut.com/l/_6NQBgLqSap0Z
https://dl.doubtnut.com/l/_GUd7S3Rfl0cQ

Reason : The phase angle is the angle between the

alternating e.m.f. and alternating current of the

circuit.

A. Statement-1 is True, Statement-2 is True,

Statement-2 is a correct explanation for

Statement-1.

B. Statement -1 is True, Statement-2 is True,

Statement-2 is NOT a correct explanation for

Statement-1.

C. Statement -1is False, Statement-2 is True.

D. Statement -1 is True, Statement-2 is False.


https://dl.doubtnut.com/l/_GUd7S3Rfl0cQ

Answer:

O Watch Video Solution

29. Assertion: Chock coil is the prefered over a

resistor to adjust current in an AC circuit.

Reason: Power factor for inductance is zero.

A. Statement-1 is True, Statement-2 is True,

Statement-2 is a correct explanation for

Statement-1.

B. Statement -1 is True, Statement-2 is True,

Statement-2 is NOT a correct explanation for


https://dl.doubtnut.com/l/_GUd7S3Rfl0cQ
https://dl.doubtnut.com/l/_2gBXkYZRRzvS

Statement-1.

C. Statement -1 is False, Statement-2 is True.

D. Statement -1 is True, Statement-2 is False.

Answer:

° Watch Video Solution

30. The resistance of a coil for DC is in ohms. In AC,

the resistance

A.remain same

B. increase


https://dl.doubtnut.com/l/_2gBXkYZRRzvS
https://dl.doubtnut.com/l/_SunNT9Tu5IU6

C. decrease

D. be zero

Answer:

o Watch Video Solution

31. If instantaneous current is given by
i = 4cos(wt + ) amperes, then the r. m. s. value

of current is

A. 4 ampere

B. 24/2 ampere


https://dl.doubtnut.com/l/_SunNT9Tu5IU6
https://dl.doubtnut.com/l/_c7vivl159hpk

C.4+/2 ampere

D. zero ampere

Answer:

o Watch Video Solution

32. In an AC circuit I = 100sin2007t. The time

required for the current to achieve its peak value of

will be
A 1
. 100sec
1
B. ——sec

200


https://dl.doubtnut.com/l/_c7vivl159hpk
https://dl.doubtnut.com/l/_Ao5sNCmIwoAO

C. Wseo

D. ——
100 sec

Answer:

° Watch Video Solution

33. The frequency of ac mains in India is

C
A. 30— or Hz
S

c
B.50— or Hz
S

c
C.060— or Hz
S

D. 120§ or Hz


https://dl.doubtnut.com/l/_Ao5sNCmIwoAO
https://dl.doubtnut.com/l/_htmsgWfI5hWy

Answer:

0 Watch Video Solution

34.The peak value of an alternating emf E given by
E = (Ep)coswt
is 10V and frequency is 50 Hz. At time ¢t = (1/600)s

the instantaneous value of emf is
A.10V
B.5,/3V

C.5V

D.1V


https://dl.doubtnut.com/l/_htmsgWfI5hWy
https://dl.doubtnut.com/l/_EkMDGF7pFxca

Answer:

0 Watch Video Solution

35. An ac is given by equation
I = (I})coswt + (Iy)sinwt. The rms value of

current is given by

A. i(7/1 + i9)
V2
B.i(zl + 19)°
V2
C%( 1 +Zz)1/2
1/2

D.

~.

(

%Jrzz)

Do | —


https://dl.doubtnut.com/l/_EkMDGF7pFxca
https://dl.doubtnut.com/l/_b2ecELrOMn0c

Answer:

0 Watch Video Solution

36. In a circuit, the value of the alternating current

is measured by hot wire ammeter as 10 ammeter. Its

peak value will be

A.104

B.20A

C.14.14A

D.7.07A


https://dl.doubtnut.com/l/_b2ecELrOMn0c
https://dl.doubtnut.com/l/_lrEMqbfITF2r

Answer:

0 Watch Video Solution

37. The frequency of an alternating voltage is 50

cycles/sec and its amplitude is 120V. Then the rm.s

value of voltage is

A.101.3V

B. 84.8V

C.70.7V

D. 56.5V


https://dl.doubtnut.com/l/_lrEMqbfITF2r
https://dl.doubtnut.com/l/_NSZIi31ZLDiV

Answer:

0 Watch Video Solution

38. A resistance of 202 is connected to a source of
an alternating potential V' = 220sin(1007t). The
time taken by the current to change from the peak
value to rms value is

A.0.2sec

B. 0.25 sec

C.25 x 10~ 3 sec

D. 2.5 x 103 sec


https://dl.doubtnut.com/l/_NSZIi31ZLDiV
https://dl.doubtnut.com/l/_YgmgEKxEnkuF

Answer:

0 Watch Video Solution

39. An alternating current of frequency 'f’ s
flowing in a circuit containing a resistance R and a

choke L in series. The impedence of this circuit is

AR+ 2nfL

B. \/R2 %
C./R>+ L*

D. \/R2 + onfL



https://dl.doubtnut.com/l/_YgmgEKxEnkuF
https://dl.doubtnut.com/l/_0XBiiCnWdJOz

Answer:

° Watch Video Solution

40. An alternating voltage is connected in series
with a resistance R and inductance L if the
potential drop across the resistance is 200V and
across the inductance is 150V, then the applied

voltage is

A. 350V

B. 250V

C. 500V


https://dl.doubtnut.com/l/_0XBiiCnWdJOz
https://dl.doubtnut.com/l/_Q9Ls9SlACirk

D. 300V

Answer:

0 Watch Video Solution

41. An inductive circuit a resistance of 10ohm and
an inductance of 2.0 henry. If an AC voltage of 120
volt and frequency of 60H z is applied to this circuit,

the current in the circuit would be nearly

A.0.32A

B.0.016A4


https://dl.doubtnut.com/l/_Q9Ls9SlACirk
https://dl.doubtnut.com/l/_n8VlBnAYfwCW

C.0.484

D. 0.80A

Answer:

° Watch Video Solution

42. A 20volts AC is applied to a circuit consisting of
a resistance and a coil with negligible resistance. If
the voltage across the resistance is 12V, the

voltage across the coil is

A. 16 volt


https://dl.doubtnut.com/l/_n8VlBnAYfwCW
https://dl.doubtnut.com/l/_vMw1dilMAu3Y

B. 10 volt

C. 8 volt

D. 6 volt

Answer:

° Watch Video Solution

43. An alternating voltage F = 2004/2sin(100t) is
connected to a 1 microfarad capacitor through an

AC ammeter. The reading of the ammeter shall be

A.10mA


https://dl.doubtnut.com/l/_vMw1dilMAu3Y
https://dl.doubtnut.com/l/_Ljhe0TKbqgwP

B.20mA

C.40mA

D. 80m A

Answer:

° Watch Video Solution

44, A resistor and a capacitor are connected in
series with an a.c. source. If the potential drop
across the capacitor is 5 V and that across resistor

is 12 V, applied voltage is


https://dl.doubtnut.com/l/_Ljhe0TKbqgwP
https://dl.doubtnut.com/l/_tVh1u3duLYkv

A 13V

B.17V

C.5V

D. 12V

Answer:

° Watch Video Solution

45. A 120 volt AC source is connected across a pure
inductor of inductance 0.70 henry. If the frequency
of the source is 60H z, the current passing through

the inductor is


https://dl.doubtnut.com/l/_tVh1u3duLYkv
https://dl.doubtnut.com/l/_7Q3ZCuzq4Ruv

A. 4.55amp

B. 0.355amp

C. 0.455amp

D. 3.55amp

Answer:

° Watch Video Solution

46. The instantaneous value of current in an A.C.
circuit is I = 2sin(1007t + 7 /3)A .The current

will be maximum for the first time at


https://dl.doubtnut.com/l/_7Q3ZCuzq4Ruv
https://dl.doubtnut.com/l/_BHlYbq08ri8z

At = WS
B.T = Ls
200
C.t= Ls
400
D.t = is
600
Answer:

° Watch Video Solution

47. In a L — R circuit, the value of L is (%)
7y

henry and the value of R is 30 ohm. If in the circuit,
an alternating e.m.f of 200 vol at 50 cycles per sec is

connected, the impendence of the circuit will be


https://dl.doubtnut.com/l/_BHlYbq08ri8z
https://dl.doubtnut.com/l/_fQALvP1ILtGZ

A 11.4Q, 17.54

B. 30.79, 6.5A

C.40.4Q, 54

D. 5002, 44

Answer:

° Watch Video Solution

48. The figure represents the voltage applied across
a pure inductor. The diagram which correctly

represents the variation of curent ¢ with time ¢ is


https://dl.doubtnut.com/l/_fQALvP1ILtGZ
https://dl.doubtnut.com/l/_71o3eQ8ZzXK7

given by

VA



https://dl.doubtnut.com/l/_71o3eQ8ZzXK7

Answer:

° Watch Video Solution

49.0One 10V, 60W bulb is to be connected to 100V
line. The required inductance coil has self-
inductance of value (f = 50Hz2)

A.0.052H

B.2.42H

C.16.2mH


https://dl.doubtnut.com/l/_71o3eQ8ZzXK7
https://dl.doubtnut.com/l/_SA8P1yKhwNT9

D.1.62mH

Answer:

0 Watch Video Solution

1
50. A resistance of 3002 and an inductance of —
7r
henry are connected in series to an AC voltage of
20volts and 200Hz frequency. The phase angle

between the voltage and current is

A.tan_l.

B.tan_l.

] w| ke


https://dl.doubtnut.com/l/_SA8P1yKhwNT9
https://dl.doubtnut.com/l/_3URlnWTqpBXd

C.tan '.

D.tan " !.

oo | w

Answer:

° Watch Video Solution

51. If an alternating voltage is represented as
E = 141sin(628t), then

(1) the rms voltage is 141V

(2) the rms voltage is 100V

(3) the frequency is 50H 2z

(4) the frequency is 100H =z


https://dl.doubtnut.com/l/_3URlnWTqpBXd
https://dl.doubtnut.com/l/_UGfj9NveCnWi

A.1,2 and 3 are correct

B.1and 2 are correct

C.2 and 4 are correct

D.1and 3 are correct

Answer:

° Watch Video Solution

52. The r.m.s. value of an ac of 50 Hz is 10 A. (1) The
time taken by the alternating current in reaching
from zero to maximum value is 5 x 1073 sec (2)

The time taken by the alternating current in


https://dl.doubtnut.com/l/_UGfj9NveCnWi
https://dl.doubtnut.com/l/_kC553lNoEWB9

reaching from zero to maximum value is 2 x 103
sec (3) The peak current is 14.14 A (4) The peak
current is 7.07 A

A. 1,2 and 3 are correct

B.1and 2 are correct

C.2 and 4 are correct

D.1and 3 are correct

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_kC553lNoEWB9

53.If the voltage in an ac circuit is reparesented by
the equation V' = 2204/2sin(314¢ — @), calculate
rms value of the voltage

A. 220V

B. 314V

C.220,/2V

D.200/+/2V

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_KUfQS7z9dA5A

54.If the voltage in an ac circuit is reparesented by
the equation V' = 2204/2sin(314¢ — @), calculate
average voltage

A. 220V

B.622 /7V

C.220,/2V

D.200/+/2V

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_5Uh4q8y4pmLi

55. If the voltage in an ac circuit is represented by

the equation.
V = 220+/2sin(314t — ¢) volt calculate (a) peak
and rms value of the voltage, (b) average voltage,
(c) frequency of ac.

A.50Hz

B.50/2H 2

C.50+/2Hz

D.75Hz

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_SQFjDSZQla7X

56. Assertion: The alternating current lags behined
the em.f. by a phase angle of 7 /2, when AC flows
through an inductor.
Reason: The inductive reactance increases as the
frequency of AC source decreases.
A. Statement-1 is True, Statement-2 is True,
Statement-2 is a correct explanation for
Statement-1.

B. Statement-1 is True, Statement-2 is True,

Statement-2 is NOT a correct explanation for


https://dl.doubtnut.com/l/_SQFjDSZQla7X
https://dl.doubtnut.com/l/_D9AWaP8F52M0

Statement-1

C. Statement -1 is False, Statement-2 is True.

D. Statement -1 is True, Statement-2 is False.

Answer:

° Watch Video Solution

57. Statement 1: An alternating current shown
magnetic effect.

Statement 2: Alternating current varies with time .


https://dl.doubtnut.com/l/_D9AWaP8F52M0
https://dl.doubtnut.com/l/_zcvYOOSzJKMd

A. Statement-1 is True, Statement-2 is True,

Statement-2 is a correct explanation for

Statement-1.

B. Statement-1 is True, Statement-2 is True,

Statement-2 is NOT a correct explanation for

Statement-1

C. Statement -1 is False, Statement-2 is True.

D. Statement -1is True, Statement-2 is False.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_zcvYOOSzJKMd
https://dl.doubtnut.com/l/_ywnfvZE2ylwv

58. Assertion: A capacitor of suitable capacitance

can be used in an AC circuit in place of the choke

coil.

Reason: A capacitor blocks DC and allows AC

A. Statement-1 is True, Statement-2 is True,

Statement-2 is a correct explanation for

Statement-1

B. Statement-1 is True, Statement-2 is True,

Statement-2 is NOT a correct explanation for

Statement-1

C. Statement -1 is False, Statement-2 is True.


https://dl.doubtnut.com/l/_ywnfvZE2ylwv

D. Statement -1 is True, Statement-2 is False.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_ywnfvZE2ylwv

